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2y  0.79% (+3.0bp)/ MU +2.8bp
10y 162 (+2.8bp)/ MY +3.5bp
30y 234% (+24bp)/ MY +3.9bp
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o 0.73% (-14bp) / MY +2.4bp
=g -0.10% (+2.8bp) / FY -0.3bp
m2A 0.22% (+4.1bp)/ Y -0.1bp
O|EF2|O} 1.26% (+7.9bp)/ MY -2.3bp
AT QI 0.93% (+5.6bp)/ ™Y -3.6bp
mEIES 8.10% (+0.1bp)/ MY +0.0bp
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DOW30 18253.85 (-0.30%) / ™ML +0.91%
NASDAQ 5300.87 (-0.21%)/ MY +0.81%
S&P500 2161.20 (-0.33%) / ®M L +0.80%

NIKKEI225 16598.67 (+0.90%)/ MY -1.46%
SHANGHAI 300470 (8% /™Y +0.21%

FTSE100 6983.52 (+1.22%)/ T -0.29%
DAX30 10511.02 (&) / ™Y +1.01%
CAC40 445356 (+0.12%) / MY +0.10%
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9z/=8) 11211 (-0.0029)/ MY +0.0019

oz/01 11394 (+0.04)/ MY +0.57

Shay/ol 10163 (+033)/ MY +028

Ze/flet 28E 8% / MY 66778 (+0.0078)

e c/eta 1.28339 (-0.01401) / MY +0.00096

NDF 1103.00 / 1104.009..1.95¢ At& / MY 1101.50 / 1102.50..045% A&
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WTI 4881 (+1.2%)/ MY +0.90%

COMEXE® 131270 (-03%)/ ML -0.7%
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ALl 2043.63 (-1.21%)
AL 681.21 (-1.25%)
/22 1101.30 (+2.50)

KTB 110.97 (+0.08)
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LKTB 133.21 (+0.32)

ly  13050% (-2.20bp)
3y  12470% (-5.00bp)
S5y  12540% (-6.60bp)
10y 13980% (-5.80bp)
20y 14330% (-6.10bp)
30y 1.4410% (-5.80bp)
CD  1.3400% ( 0.00bp)

7. BE Ag ATE O FYY 7|F)
1Y -430bp (+1.80bp)
2Y -575bp (+2.80bp)
3Y -220bp (+3.50bp)
5Y -290bp (+4.35bp)

10Y  -13.05bp (+3.55bp)
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1Y 1.2700% (-0.50bp)
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2Y 1.2325% (-1.50bp)
3Y 1.2250% (-1.50bp)

5Y  1.2250%  (-2.25bp)
7Y 12350%  (-2.25bp)
10Y 1.2675%  (-2.25bp)
12Y -375 (-1.00bp)
2*3Y -075  (+0.00bp)
2*5Y  -0.75  (-0.75bp)
3*5Y 000 (-0.75bp)
5*7Y  1.00  ( 0.00bp)
5*10Y 425  ( 0.00bp)
*CRS 22|

1Y 1.1650% (-1.50bp)
2Y 1.0150% (-1.50bp)
3Y  0.9700%  (-2.50bp)
5Y  0.8900%  (-4.00bp)
7Y  0.8300% (-4.00bp)
10Y 0.8000%  (-4.00bp)
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= =82 7€ (10/1~7¢)
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[ECB H|S=r3H=|2l]
Y=-92 A PMI (0f 4:49.0, 0|7:49.2)

FE2E-8E PPI(MoM) (0f 4:-0.1%, 0|F:0.1%)
ot=-88 ZAMX| (0]74:8.32B)
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312-99 CPI(YoY) (0] AH0.8%, O]%:0.4%) / CPI(MoM) (0 A0.2%, O] :-0.1%)
0]=2-ADP 9¥ AlFD8 (0)AH170K, O|F:177K)
-89 2OIAX| (0fAk:-40.00B, 0|F:-39.50B)
9% AMH|A PMI (0AH51.9, 0|F:51.9)
9% =3 PMI (0| H:52.0)
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